e, iy o> happen in the long-run? Assuming a parallel shift in the demand curve
S e L Uy i ims dhie high-price/low-output result): P52
e bl g A b AT | i) Find the equation for the new demand curve.
ML= (408D, 35t 0010 11) Calculate the new profit-maximizing price and quantity..
J @ ¥a ATC 1i1) [lustrate the new profit-maximizing price and quantity in

bAT(——:—O,OZ F
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Concordia University
Faculty of Commerce and Administration
Department of Finance
Managerial Economics MBA 606/1 AA
Final Examination

Professor: Dr. B. Somers June 27, 2003

7:00-10:00 pm

N.B..C.rib sheets and any electronic devices capable of storing, transmitting, or
receiving answers are strictly prohibited.

(20 marks) 1. Fine Threads, a manufacturer of men’s suits, operates in a
0\ monopolistically competitive industry. The demand for its product is

estimated by P = 900 — 0.03Qq and its total cost function is TC = Sojb
1,440,000 + 300Q + 0.01Q? e

a) Calculate the profit-maximizing price, output, and profit.

b) Using graph paper, plot the relevant functions to illustrate the profit-
maximizing price and output.

If there is complete freedom of entry into the industry, what would

your diagram.

(20 marks) 2. Sophie’s Coiffure is a chain of beauty salons. Recently management
decided to practice price discrimination whereby it would charge a

lower price to seniors. The following are estimates of the demand
for permanents:
: &

P =90-0.008Qq (regular customers)
- P=60-0.008Qq (seniors)

The total cost function is TC = 125,000 + 12Q + 0.0016Q%.

a) Find the préﬁt-maximizing price and output for each market and
total profit.

b) Using graph paper, illustrate how price and output is determined for
each market.

c) Calculate the profit-maximizing price, output, and profit if
management does not practice price discrimination.



B

(20 marks) 3, Addison Aluminum Ine, and Bachmann Enterprises Inc. are aluminum
Manufacturers. After len gthy negotiations, management at both companies
have agreed to form a cartel and fix the price of aluminum. The
demand for aluminum is estimated by the equation P = 1,900 — 0.50Q,
where P is the price per ton and Q is in thousands of tons, The total cost
curves of the two firms are as follows:

Sorme s o HE, 3

/) I " sl 3 A—{w
JJ(—: ICH - 150’000 4 5000 & O‘§QZ :\((‘: 2(:*?)6()Q rj-_ :‘;r‘(‘,soo)) \-)./U)(‘ g—‘;L{.C/i)rA;rOﬁD" ‘
@ETC, = 200,000+ 500Q + WBQL_ "L """ ~e-250 \
g 1 2, s

W= gyi2se
a) What is the equation for EMC? i
b) Calculate algebraically the profit-maximizing price and output for the
cartel. 7, whop THC MR Soe 0@ AI P .9 SHUO)
¢) Using graph paper, illustrate diagrammatically the profit-maximizing
price and output for the cartel,
d) Calculate the output and profit for each firm,<et Hea= B Q) Sduoe fo Qa.

e Tt Wy S K(_(QW,,MD Sde [~ Oy
b P59
wt , (20 marks) 4. TheBréwer’s Best Beer Company is the dominant firm and price leader in
J"gnﬂ;’;,‘,) : its industry. Its marginal cost is MCy= 11 + 0.0002Q. The market demand

for a case of 24 bottles is P = 30 — 0.0001Qq and the combined marginal
cost of other firms in the industry is MCp= 10 + 0.0001Q. 2qva¥ HC o dimonmd e
a) Find the demand equation for the dominant firm. HAve whang iy Sdhse b
b) Calculate the profit-maximizing price and output for the dominant
' firm and the other firms,
¢) Using graph paper, illustrate diagrammatically the profit-maximizing
L price and outputs.[ “en ficd MR # squate Vigai

Dorirad birm aslobl 3h gz | (locens o pr ¥
A D cwes 10, follomers meuld ey @ 3
(20 marks) 5. Discuss the following topics:
4 a) therelation between price elasticity of demand and markup pricing
| b) long-run average cost economies of scale
| ¢) the marginal rate of technical substitution*
2 d) the short-run supply curve of a perfectly competitive firm*

* A diagram is required. @
G, B U o o gl
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@lﬂ L"aw\m P=tc ' o
WY jg [rO 7 7 S
';.ma’ Q( ' . e

Q.= Qa‘Q'F'.

@;ngt peHC ) Sd fn Qr

(J/b__ 9 {'f"/r, 19 G I) |{,, H")(;/—

/le, f_’)‘:- CJ{







(20 marks) 3.

(20 marks) 4.

(20 marks) 5.

/ 5 :
f = XA on =D 7@,/W\’”"/) 4 f)vapg\?/ 1*%"%‘%’
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Al Videq and Box Office Hits are video rental companies whose owners chenp\en :
have decided to form a cartel and fix the price of a video rental. The 8
demand for video rentals is estimated by the equation P =6 — 0.01Q4 V’IOHOM =

where Q is in millions. The total cost curves of the two firms are as
follows:

TC, = 150 + 0.50Q + 0.02Q?
TCy= 90+ 1.50Q + 0.02Q°

a) What is the equation for ZMC?

b) Calculate algebraically the profit-maximizing price and output for the
cartel.

c) Using graph paper, illustrate diagrammatically the profit-maximizing
price and output for the cartel. '

d) Calculate the output and profit for each firm.

Acme Tree Service cuts down trees for residents of a large city. A
secondary source of income for the company is the sale of the
by-product as firewood. The two commodities are jointly produced in
fixed proportions. The demand curves for these two products are as
follows: :
P =800-0.50Qq4 ( tree-cutting)

P =350-0.25Qq ( firewood ) & g Gect QL

The total cost function is TC = 300,000+ 130Q +0.10Q? = VM@= 25 D Y
o G"CX b (v
a) Derive the equation for the total marginal revenue curve ( MR, ).
b) Calculate the profit-maximizing price and output for each product and
the total profit.
¢) Using graph paper, illustrate the profit-maximizing price and output
for each product. :

Discuss the following topics:

a) long-run average cost curve*

b) five determinants of price elasticity of demand

c) the kinked demand curve as an explanation of an oligopolist’s
behaviour*

d) the use of market experiments to estimate the demand for a product

* A diagram is required.




Concordia University
Faculty of Commerce and Administration
Department of Finance
Managerial Economics MBA 606/1 CA
Final Examination

- Professor: Dr. B. Somers August 19, 2004
6:00-9:00 pm

N.B.. (?rib sheets and any electronic devices capable of storing, transmitting, or
receiving answers are strictly prohibited.

(20 marks) 1. Woolrich, a manufacturer of women’s sweaters, operates in a
monopolistically competitive industry. The demand for its product is
estimated by P = 800 — 0.002Qq and its total cost function is TC =
6,400,000 + 400Q + 0.002Q?

a) Calculate the profit-maximizing price, output, and profit.

b) Using graph paper, plot the relevant functions to illustrate the profit-
maximizing price and output.

c) If there is complete freedom of entry into the industry, what would
happen in the long-run? Assuming a parallel shift in the demand curve
(i.e. the high-price/low-output result):

1) Find the equation for the new demand curve.

ii) Calculate the new profit-maximizing price and quantity.

111) INlustrate the new profit-maximizing price and quantity in
your diagram.

(20 marks) 2. Hennessey and Legault is a law firm whose management has
decided to practice price discrimination whereby it would charge a
lower price to low-income clients. The following are estimates of the
demand for their service:

P =600 — 0.002Qd ( regular clients )
P =400 - 0.008Qd ( low-income clients )
where Q is the number of hours
The total cost function is TC = 4,500,000 + 10Q + 0.0009Q>.

a) Find the profit-maximizing price and output for each market and

total profit. :
b) Using graph paper, illustrate how price and output is determined for

each market.
c¢) Calculate the profit-maximizing price, output, and profit if the law

firm does not practice price discrimination.
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